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/ General Instructions to Candidates : \

® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

Answer any S questions from 1 to 6. Each carries 1 score. Sx1=5)

If an element of a structure itself is another structure, such structure is called
(a) array of structures (b) nested structure

(c) self-referential structure (d) group of structures

Which operator is used to define a member function outside the class definition ?
(@ . (b)
() = d

Which of the following software port is used to connect Hypertext Transfer Protocol
(HTTP) from client computer to server computer ?

(@) 25 (b) 80
(c) 110 (d) 443

Which of the following returns the IP address of a domain name ?
(a) Web server (b) Database server

(c) File server (d) DNS server
The number of rows in a relation is called
(a) Tuple (b) Degree

(¢) Cardinality (d) Domain

Which of the following statement in Python is used to display the content on the screen ?

(a) cout (b) printf
(¢) print (d) display
PART-B
Answer any 11 questions from 7 to 19. Each carries 2 scores. (11 x2=22)

Write the general form and example of a structure.

Distinguish between multiple inheritance and hierarchical inheritance.
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PART - A

1 2)®@8 6 AOOW)BS G2 103EBSEI08 ABEOBIENS 5 g IPOTIM DOMV af) FY®)D.

1 capod afl@o. Sx1=595)

80} (@RDaldlend 80) Hrleand 26Qo0) (MHald BRHWIGE BROMQe (MRDHaldlem
af)am} alO)aM).

(a) array of structures (b) nested structure

(c) self-referential structure (d) group of structures

80} OAMIAG aNoEBaUOM GOTIM) alj0d® AUlOOaNE Hal1QOM DalEWIUTINAN

ssogdczogoosm“.
(@ . (®)
(c) d

®00Y aloWMAIXIGE aB® EIVIANPHAUWA EaldBF6M ©ea0a|d ASHIY (SIMBIVand
¢(a10e50eH0glom (HTTP) 6603 doalgdl@daiianie 6au3aId doal)SACRIQ »emdy
©21Qj008 DalCWOUSIIN® ?

(@ 25 (b) 80

(c) 110 (d) 443

®00¢ al0@IMAUVIGE B®WM 30} dIeeam emaidend IP aeaugy degend

621N ?
(a) Web server (b) Database server
(c) File server (d) DNS server

830) dleelauailoe c00 BE)S af)ane ™ allglemme
(a) Tuple (b) Degree
(¢) Cardinality (d) Domain

OaI®EMI@3 @Y alOANAUVIG3 aG® @g};g“e)mc@osm“ @lafl@d oegenaq@ (uﬂm)”e)%.d
©21Qj008 DalCWOUSININ® ?

(a) cout (b) printf
(¢) print (d) display
PART - B
7 2)®@3 19 2160388 ¢21034E1 @3 aBO@BIE0 11 ag)gROTIM QOMBo af)9)®)d>.
2 cmpod afloo. (11 x2=22)

830} (T2 1A1OAF 23NOM3 GaNOAo HBIAODENAUL Af)9)D).

203glafld  MBEO0AIQMBIV, E9a00BSFW@  MHABOROAQMAV ol ®edilenss
QY@ LOMVo )T ?
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10.

I1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

(a) What is polymorphism ?
(b) What are the types of polymorphism ?

Explain any four file opening modes in C++.

Distinguish between empty tags and container tags in HTML.

What is a Web Server ?

Explain SELECT operator in relational algebra.

Define the terms :

(a) Tuple

(b) Domain

Explain view in SQL.

What is Artificial Intelligence (AI) ?

Explain E-Governance.

Distinguish between list and tuple data types in Python.

(a) Write the general form of if ...... else statement in Python.

(b) Write an example.

PART-C

Answer any 7 questions from 20 to 28. Each carries 3 scores.

Write any three differences between an array and a structure.

Explain different visibility labels of a class in C++.
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10.

I1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

(2) GatglcnoBatlavo af)aNIT3 af)am) ? (1)

(b) allalw ®eo caloglcndBatlavesRUd a0l ? (1)
CH++ ol ago@maslel MLl an®@3 83dqlamlow) ¢aoa)desaldl aflaIcio .

HTML ee1 empty S0U), 3$66MmeM@ SowsHAI @2al£)8s Aly™{daoe af)m.

QM OAVBAIB f)ANIDT3 ) ?

Adleelauem @3 @ryudedlEenicaieel SELECT ssogdczogcﬂamgjgi Qﬂmaﬂ%yﬁ).

alBeoed aIl3Q)a I :

(a) Tuple

(b) Domain

SQL eel view aflomaq|d] allaidigd.

@1RyAGladlauy@3 snadelemdav (Al) af)amIm3 af)am ?

E-weaidemadailomagl aflaiclge..

List, tuple ag)anfl ©6a1mamioe! awogoeesajj@eaaldl Alaicig)e.

(a) oaimemlealif ... else cqLQe2FlO3 2RMOMB EaNdo af)$) ). (1)

(b) 80} DBIOOEMO af)$)®)d:. 1)
PART - C

20 2)®@3 28 AOOW)BS ¢21033SE 03 aBO®BIENC 7 af)GNOTIM DOMVo af) Y.

3 cpod alloo. (7x3=21)

630) @RYEO, (TRBDalB gNOI GRAELNSS aBO@TILI0 3 AU PAVEBUB af)$ @)

C+t ee1 gomiee! allaflw allmdlnield eeiniensegaldl alaids.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Define a class shape that consists of overloading functions area( ) to find the area of a
rectangle and a square. Also write the main( ) function.

[Hint : Area of a rectangle = length x breadth, Area of a square = side x side]

Write any three differences between static web pages and dynamic web pages.

(a) What is data indepedence in DBMS ? (1)
(b) What are the different forms of data indepedence ? 2)

Explain any three aggregate functions in SQL.

Write any three differences between serial computing and parallel computing,

Explain any three E-learning tools.

Write a Python program to print first 10 natural numbers.

PART-D

Answer any 3 questions from 29 to 33. Each carries 4 scores. B x4=12)

Explain any four features of object oriented programming.

Write a C++ program to read the contents of a file and display it on the screen.

Design a web page about Kerala in two or three sentences. The web page should
include an image or map of Kerala.

Explain any four advantages of DBMS.

(a) What are the components of SQL ? 1)
(b) Explain each of them. 3)
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31

32.

33.

830} 2 1®EOTOWW)o TVA2 IMEOTIOBW)0 AllqlBsmo @:0emANGIMEs area( ) ag)am
aDo6BaH (8 BOAIBGRIONW §21QYIN shape af)aM Hoav dldQlafl@ia. main( ) agam
aNoEBaH Mo af)Y .
[aV)a1® : a1EETIOM allqyl@sme = aflgo x allei

V22 1meoilead allayidsme = alvdo x A1do]

aRogles, ©OAWMOAS HAINI GalR)HUd @IENSS BO@SBILI 3 AIN®OTVEBUD
) $} B>,

(a) DBMS ee1wogo sHadaufleniadanaday ag)anoad af)am ? (1)
(b) awogo adauileaimdawadaiieer allaflw EanoMBud agal ? 2)

SQL eel ago@®lene m)an @rUIenNg afosBautMdedaldl Allaidlgns.

MA@ BoalSlol), aldOLIG3 dhoallSlold) Hal GAlENSS ofO@®IIENe MmaN
QYD LAVEIBUB af)$)@) .

aRO@Bene MAN gn-celelow) S)BeBa|dl AllaICIQ)d:.

@RRPO® 10 af)gnod MVoslidB @ld e2MTIMBE O6al®ENS  E@loWo
af) 91D

PART -D
29 m)®@3 33 AUOOWBH ¢21034BEI3 aBE@BIEN 3 af)INOVIM DONV af)9}®)d>.
4 capod aflo. Bx4=12)
s3enIRG BOAQBW G IdWIAUIIOM aBO®EILllo ME! allla|O)dUB af)91@)d:.

C++ oe1 80) an0@3 Flaw a1 @GO3 Benead (@3 Alavsgl al1QINGEImBs
G lO(UN00 Af)9ID)D.

CHOBOOMa|F] OCNBI MEANI ARG 630) HAINI Gale OYI0IL)D. @RGIGS
CHOBOTNOM 30) 2 l(MEA0 B0ECa]d DUBHA|S)TT):.

DBMS 63 ago@&]ene Mol CAMaUB af)9)@)d.

(@)  SQL &3 @»0Caltoemd)aud a3l ? (1)
(b) &0cEdalOMBN)Gla )0 AlUodlBEIQ)H:. 3)
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